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Approximating randn with 12 draws from rand

octave:]> xx sum(rand(1e6, 12), 2) — 6.0;
octave:2> mean(xx)
ans = 0.0011525
octave:3> stci(xx)
ans = 0.99984
octave:4> hist(xx, 1000);

In [1]: xx = np.random.rand(int(1e6), 12).sum(1) — 6.0

In [21: xx.mean()
Out[2]: 0.00015316318828693392

In [31: xx.std()
Out[31: 0.99959157256611364

In [4]: plt.hist(xx, 1000); plt.show()



ias&/Y

V

‘@$73]

(7)d

7

:9
I-’

JSL’9ni.O

1-J

C4lfiayf4w5tvE

jss?a]f}

1 jflS

?vQV.O

r3?

a



(It &E

Hz var)Jcj

5[fl [LJ

A

-

__

err



aie ej Ju:

—

or

—

- (25€ 4Ø€.re4

0t.

nO,,

P2(Ew) 4c6r rtsk4mnec

c(J (Eat)

514. a



‘LI

:>c,,ple

1’

e’ e,ar

(A)

Len’)

C

A



r

scJ,v1e z4-)\((o,L),

K r-&J” (N’,
A

np. rdo,’.

p() ffp&c01)

= Tr,f(2c(
2c/I €

e

=)\fl; 2,!)

A:?.,. P

I

3C,

I)

S

a

4 zo4, x4

—‘/a



‘Cl

CfT 7 (n)

tCt’S

=0

ps(tO)

yr

c
=A tcY

0

CDV



1$
.

ii
C

J

‘S
..

n
-

r
-

11
r
m

u
S

‘-‘
F

i
2<

L.
-i

7
<

U
-a

b
t

I

4

1


